
  
  
 

 
 
 
 
 
 
 

 

• FSH is produced by the pituitary gland and stimulates the growth of follicles in the 
ovary.  
 

• A follicle is a small sac of fluid in the ovaries that contains a developing egg. 
 
• Oestrogen is a hormone released by the developing egg in the follicle of the ovary.  
 
• The hormone oestrogen is responsible for the growth and repair of the uterine 

lining. Oestrogen also inhibits FSH. 
 
• Once oestrogen rises to a high enough level it causes a surge in LH from 

the pituitary gland which stimulates ovulation. 
 
• The follicle ultimately develops into the corpus luteum, which produces oestrogen 

and progesterone, which inhibits the pituitary from producing FSH and LH. 
 
• The uterus wall thickness/lining is maintained by progesterone. 
 
• The corpus luteum dies if the egg is not fertilised, and progesterone levels 

decrease. 
 
• Menstruation occurs as the uterine lining breaks down, and this is referred to as 

having a period. 
 

This is an example of a negative feedback loop! 

 

SEXUAL HEALTH OVERVIEW 

• The egg in the ovary is swept along the fallopian or uterine tube 
by cilia, where it can then embed in the endometrium.  
 

• This is also the layer of the uterus shed during menstruation 
and is the outermost layer. 

 
• It has a very good blood supply which is essential in supporting 

an embryo during development if a pregnancy does occur.  

 

 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

 


